ST UDY L ENTRE

SIMPLE INTEREST WORK SHEET

26. A sum of X 46,000 was lent out at simple interest and at the end of 1
year and 9 months, the total amount was I 52,440. Find the rate of
interest per year.
91Fe0 < 46,000 1 WG 9 WIHS HTOSHBGL LIBG Sl 19 eLpeoID
Cwrsss OsmTmaswns X 52440815 2 wihbss eafed, ey eibHmBH
BITGHT .

a. 6% b. 7% c. 8% d. 10%
Solution:
P = Rs. 46000

N =1 year 9 months

1+ 2 -7
=1+ L B year
Amount = Rs. 52440
S.I=52440 - 46000 = Rs. 6440

s1= PNR
100

s 6440 — 46000x7 xR
4%100
- R=8%

. Rahul borrowed ¥ 4,000 on 7th of June 2006 and returned it on 19t
August 2006. Find the amount he paid, if the interest is calculated at
5% per annum.
gTGeo 7-6-2006 oieim R 4,000 sLemsll QUBBI OGS 19-8-2006 SiETHI
FHmbu FasHHeny. 5% aisld allly SesSLLIULLT Deu] CFaishdul
OpTens 666616y ?

a. < 4000 b. X 3600 c.< 4400 d. I 4040
Solution:
P = Rs. 4000

- =13 =1
N =73 days 2eg Year = ¢ year
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R=5%
g1= PNR
100
_ 4000x1x5 = 40
5%x100

. Amount =P + S.1=4000 + 40 = Rs. 4040

28. A man invested %of his capital at 7%, %at 8% and the remainder at

10%. If his annual income is X 561, the capital is

QH LNHT HEH  CLPVOSHIHIHD % ukiend 7% ailly  eiHsHHeid %
LIBID 8% eipsdaid, BHuetenews 10% eaissHed  (1WHeSH
QFUIAMTT. SIS QUBL  QUCHLOTEID X 561 6Ialled SIUTSHI CLPEOSHEILD.

a.< 5,400 b.% 6,000 c.% 6,600 d.< 7,200
Solution:

il (w7

= 42P +36P + 75P = 1009800

= 1009800 _ R 6,600
153

. Vaideesh deposits X 500 at the beginning of every month for 5 years in
a post office. If the rate of interest is 7.5%. Find the amount he will
receive at the end of 5 years.
awaugerd  eraiienf X 500  @elQeut(m  10THSH OFHT_SBHHID  @F
DIEhFVBHHD 5 YUMBBEHSGHF OCFVISHHISMT]. allly aisbd 7.5%
aefled 5 SLWIBH6T (PIgaled Sia] GUEBID COFHTend 6l6iIa|6Te]?
a.< 35718.75 b.X 37518.75 c. 37581.75 d.
35817.75
Solution:

Amount deposited every month, P = Rs. 500
No. of months, n =5x12 = 60 months

Rate of interest, R = 7% % = % %
Total deposit made = Pn

=500x60 = Rs. 30,000
Period for recurring deposit

_ i{n(n +1)}
12 2
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= i><60><61 = %
24 2

PNR

100

= 500x22, 15 _Rg 571875

2 2x100
PNR

100
= 30,000 + 5,718.75 = Rs. 35718.75

Interest, I =

-. Total Amount = Pn +

30. Mr. Thomas invested an amount of Rs. 13,900 divided in two different
schemes A and b at the simple interest rate of 14% p.a. and 11% p.a.
respectively. If the total amount; of simple interest earned in 2 years
be Rs. 3508, what was the-amount invested in Scheme B ?)

SO0 eTSILIIT h 13,900 & @yewiLmsll Lfshgs A wBpid B asm @
QouaiBauml S Lmiseflled  (pHeSH  QFuidmpr. A HlLsHeo  14%
al waisrsHad, B A LsHed 11% ey aied OBmemi(h SewrdbHL CLBID
Gurgl 2 eumHLSHFH60 HwLsGHd au'ly ap 3508 ereiled 'B"  erenim
HLLSFH0 (PpHeSh CFuls OHTeNd 6T6lal6T6,?
a. Rs 6400 b. Rs. 6500 c. Rs. 7200 d. Rs 7500
Solution:
14% of 13900 11% of 13900
(1946) (1529)
Ny e

v N
225 192
75 64
139 part = 13900
64 part = 6400
The amount invested in Scheme B is Rs. 6400
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